                         數理統計(二) 作業5          Due: Nov. 4, 2014
課外題:

7.1-17 Let 
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 equal the respective proportions of male and female college students who make their beds.  We shall test the null hypothesis 
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(a) Define a critical region that has a significance level of 
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(b) If 27 out of 90 men and 51 out of 98 women made their beds on a particular Monday morning, calculate the value of the test statistic and give your conclusion.
7.3-13 The mean birth weight in the United States is 
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 grams with a standard deviation of 
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 equal the birth weight in Rwanda(盧安達).  Assume that the distribution of 
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(a) What is your decision if a random sample of size 
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(b) What is the approximate p-value of this test?

7.3-15 Let 
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(a) Is the hypothesis 
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 rejected in favor of the two-sided alternative hypothesis 
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 if a random sample of size 
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(b) Is 
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 contained in a 95% confidence interval for 
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7.3-16 Let 
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 be a random sample of size 
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(a) Define a critical region, 
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(b) Find the approximate value of 
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, the probability of Type II error, for the critical region 
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 of part (a).

7.4-5 Let 
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 and 
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 equal the forces required to pull stud No.3 and stud No.4 out of a window that has been manufactured for an automobile.  Assume that the distribution of 
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(a) If 
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 observations are selected randomly, define a test statistic and critical region for testing 
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 against a two-sided alternative hypothesis.  Let 
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(b) Given 
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   Calculate the value of the test statistic and clearly state your conclusion.

(c) What is the approximate p-value of this test?

(d) Test whether the assumption of equal variances is valid.

7.4-7 We let 
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 and 
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 equal the blood volumes in milliliters for males who are paraplegics(下身麻痺者) participating in vigorous(有活力的) physical activities and males who are able bodied participating in normal activities.  We assumed that 
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You were asked to find a 95% confidence interval for 
[image: image58.wmf]XY

mm

-

.

(a) To construct the confidence interval, you would like to assume that the variances are equal.  Is this a valid assumption?  Test the hypothesis that the variances are equal against a two-sided alternative hypothesis.  Let 
[image: image59.wmf]05

.

0

=

a

.
(b) Test the hypothesis that the means are equal against a two-sided alternative hypothesis.  Let 
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(c) Did 0 belong to the 95% confidence interval?  Did you reject the null hypothesis in this exercise?

7.4-14 A random sample of 
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